& TBIA
ooy [Rif5as fafafar [
Total questions : 101 Total marks : 101

1) ‘Succumb’ means -
1)

achieve

v 2)
submit

3)
win

4)
conqur

I &

succumb RTfe BT |

* achieve  TGEA AT
e submit _ mRE 31

cwin__ SIS AR
e conquer SR IAT

2)
g (a/b)*-3 =(b/a)** W ©W@ X QI N F© ?



IIT -
(a/b)*=3 =(b/a)*—>
=> (a/b)*—3 =(a/b)>~*

=> x-3 = 5-X

Il
(o0)

=> 2X

=>X=4

3) T AP ?

1)
2fferd

2)
QIR

v 3)
corfafifera

4)
3fAferd

I &

o (oifdf3rfera T AFoAIETioe | ETeTor Qi Oft WIkigR FEd|
* SRIEIDS 31 I79a @11 20 395719 97 WeI |

4) TTFR K ard 2

1)
LIk

2)
MEG

3)
oI

v 4)



M

I &

o JITFT - A |

* T - G |
* TGS - TG |
o JIRFACPT - BT |

5) oo PTAM (V5 - V3) - ST ?

1)
V2

2)
1/{2 (V5-V3)}

3)
(1/V5) - (1/V3)

v 4)
2/(V3+V5)

I &

e (V5-V3)

e =[{(V5-V3) x (V5 +V3)}/ (V5 + V3)]
 =[{5-3}/ (V5 +V3)]

o = 2/(V3+V5)

6)
@A T ARG 31 TR ?

1)
T

v 2)
Eaaiv]

3)
forae



o YA ORI, TR 2MIAF FIT WY IR 3R TR T ARG 31 IR TP BIID

o1 AT | (T -
o (T3, 319, (RIS, facee 3onf |

WP AT BT, Forae, AR, FT5 3O THTTD AT I |

7) “Pass away” means —

1)
disappear

v 2)
die

3)
erase

4)
fall
T
‘Pass away’ phrase- 03 QR SKI TI3TT, W1 A3 |

* die HI<T IN\3T |

8) ATLTHCR GTTHILA 219 TRFD (I (ST ?

1)
BaSTH

v 2)
IR

3)



4)
AR
I
QIO IHIG o[ 39 'GITaATod 3o
* PIRTSH (SETH GITATIOA 2191 AR 5 AP I-9[& /RO |
GTTHILA AR TR dT ‘AR [areT |

9)
'MKS' *aRoco & QPP —-mmmmmmmemeee

v 1)
RGP

2)
MEG

3)
ST

4)
TG
AT -

* 'MKS' *raforo SRE QPP 07 RCE1sms
* 'FPS' *Maf(® TR QP 28T TARK FHIGIS “Mafors O&—-1 U133 ST |

10) ‘TP IS AR T 52

1)
% IfE

2)
A o6

3)
0TI

v 4)



ATAIRA

I &

o DI I R A (ORGP /TSR )- 37 O (O TIchd P11, (THIR SR Tl
A B TR I

* TSNS (TOO15T)- S IZF ITAT FIeTd QRN 3 GO (F(E, ITHE BATGIRH!
IR K (577 26 THITRP A |

o RHXQ @OTE (FATHH)- FACSH RS @O Gl I A1 |

11)
¢ Td Ofo AP ¢ T ¢fb 1978 A0 “NEG | 9P3 4RER afS 1910 a0 q T DA F0
oI5 ?

v 1)
¢ faa

2)
:¢/8s g

3)
8»/2¢ ma

4)
q fmq

IIT -

¢ 03715 ¢ &d - ¢ i

o 31, ¢ T P10 > Td - (¢x¢) i

* 31,5 0 I S T - [(€x¢)+¢] Fd

o 1,5 T F19MG q T - [(exe)+(¢xq)]

o AR, A 6 196 4 TA - [(€x€x9)+(€x9)] i@ = pae+oe] i = ¢ fa

12) Choose the best translation of ‘TG OIP RoIFTR P —
1)
The authorities criticised him

2)
The authorities took him to book



v 3)
The authorities took him to task

4)
The authorities gave reins to him

IIT -

‘Take to task’ T XA RFR 1 | SEOATL ‘TEF OIP R It IR SIP WG
X1 The authorities took him to task.

1T : S J2CH \3 TSRO FASHSK TS TS | I SO0 B1d FIRITAT (516, SOl
yd0vv fJAER |

14) The idiom ‘put up with’ means -

1)
stay together

v 2)
tolerate

3)
keep trust

4)
protect

IIT -
tolerate

* ‘Put up with’ phrase 0 RT3 1



15)
I LY TR0 Q7 BA -omommememev

1)
orar 3 fod

v 2)
OTAT \3 13T

3)
O \3 R

4)
oraT 3 faee

IIT -

* SRPI T TR ST 73T (foe) + oren| - (- worfor)
o ol + 0d = Q&

16) QY IR I @ Tl
a7 o oree' aft @1 IeT?
1)
SR I

v 2)
Rt / o I35

3)
TSP A0S

4)
@0 T

II0T -

o TRt /&b ATy

s @IS DD AT YSICIR P IT QITLD ATRIG I1PT SR AT O IR0
I R 1 SO 13 ICeT | THA-

* 9P} OIS R Qe aesieced fofa orar ang



* SCoPF AT IR XA |
c A&
° -
- Rfa- f5fa
* JHI- BRT| 3o |
* (THI- O TR A @ FGTT
SR KA wormet sreer aft Sibet 1 ford P3| QU SIS ©R WK, (9N Wi @) |

17) 30 ST fIgrew o8 ©f Qs 2 1. . (@10 ; 78 afoge G @eies G, . 35|
RO S PO?

v 1)
yo Gi.f3.

2)
v G

3)
8 1M

4)
v &L

IIT -

4f,

Ol = x G,

O, 79 = X - 2 G, 93
Ao = x + 2 GLI.

GO,

T2 + %2 = Afooe?

= X2 + (x-2)2 = (x+2)2

>x2 4+ x2-4x+4=x2+4x+4
=>x2-8x=0

X =8

L AMOOR i =8 +2 = 10



18) The word 'officialese' means -

1) vague expressions

2) plural number of office

3) plural number of official
v 4) language used in offices

14T : Officialese - the type of language, often used in government
documents, that is formal and often difficult to understand.

Source: Cambridge dictionary

19) Noureen will discuss the issue with Nasir _ phone

<0 -
CPTCA HIKICH PAT AT over phone K20 A |

* @Fd- He requested his friend over phone to join the meeting.

20) ‘The French’ refers to -

v1)
The French people

2)
the French Language

3)
the French manners

4)



the French society

AT = T (RO AICER 2 Article " The " I5€&, (CR aT8 -1 O P SR M |
BERMS 20T France (CR A8R #iid The article I, The France 2R France
oife@(The France people) R |

21) *Ted KT} SREo-

1)
ST

2)
ATGRTO!

3)
Y

v 4)
IR AT ARSI AT

II0T -

IR IZ @IOATNGI IGHF IJIRATRT &) I QPTG SIS SR ARSI FIRO!
USRI X4 [RIZR SRES |

o X[ RIR FAATIROR AFOINGD U BIASAT FHT KB SLPI7 AFF |

22) FERIAR T (SR TRIBO?

1)
JCT

2)
e

3)
RN

v 4)
TR[

T &



Y5> SIER Yo UfHE (FERER (Gt FRWasK (A SIRPO FANTOR TER SKIK S1d BT
A

* Y% AR Ya QYA FRI7R (GETH ([IMAINOAR (IOHTA FORASH) ATIRPIRC ST
SRR WIPDTRP X4 52T W0 |

23) GPTAN "' I STHIYP X 7 ?
1)
AP

2)
IGKIGH]

3)
RS

v 4)

o TS, T, I, 7o, P11, s1Re, oy, 319, @AY, (Jard, sWob, ko,
Jifoczra 2onf |

o SOA1 A MR AT T AG IO |
24) SRP-I1 ST C0T A2

1)
Y

IIT -



RS b o | (RIS T - IREATTT, RO, MBI, TAPT, @GNS , OO, FIeTarof \3
RPSTITABTA | © e 2009 FIPT FRETT (TEH) ST NG IR ARPSTABI |

25)
ST SR 373899 BT INTE TS | 7Y% IBF 27 F5Td et TR 1Y4 WX 3 (9T |
PR SR I T9?

1)
122%

v 2)
16%4%

3)
8Y3%

4)
11%%

II0T -

5% = 373899 x 1V4
= 373899 x 5/4 = 467373.75 U1

7Y, 1 15/2 I2ER 5 467373.75 O13T
1 I2K 3] (467373.75 x 2) / 15 5101 =
62316.5 TIT

373899 TP 1 I2RA 3% 62316.5 D11
100 TP 1 I2H 37 (62316.5 x 100)/
373899 T
= 1624 0107 |

26)
@10 NP oM

v 1)

2)



o (TR AP SR P FMT1Y ZIOT T GICAT AT 23T IR a1 FBRIAT T @IAT I8CO
SIS PT I A1 BIP @ 9M1Y I | Toa-

* (1]

o T

o 1Al

« TRACTA

* JATTSA

* AIEICSd 307

o PRI AT M, 3710, Q1§ Tz QNSRP /1|

27)
TALRICR' (Altimeter' 572

1)
O AR 17

2)
TFeOT AR Tg

3)
STTICSR 5191 “IfIE19rF 19

v 4)
THOT ATHTT Tq
T -

o g SPIAS ARTCANT 9FP-



 SHOT ATTH#IF I 918 - ACHTHON

o Q191 AP I AT A0 - PIARTACH

o STIICSH BT91 SATE191P WA AT - FCATIOIE
o THOT AR I AT 02 - SO OH |

28)Y, 5,3, 9, &, b, 0, 3D, (I S0 2l P07?

1)
08

)
e

3)
8

4)
Y8

IIT -

* OY MM . dD4d =R

* 8Y M 4> =1
*RIM .0 =C

c VY AN .40 =b

* QM . b+& = D0

* b IM . d0+b =D

* ST OM . D +>0 =08
* YOF M V8 +D =C¢¢

29) sTroTefeTd 3R TG TN PIA-----

1)
UGHT TG

2)
0.9 3ferip

v 3)
RS [0

4)



JIos

I &

o IAHAY IPRA $Morefer I 'Song Offerings' AIH RAETS TS 2 | 4TS TS
>¢afd FROT IR | 93 RIS 3EK TG / 7 Bfee fecarzd W.B Yeats.

30) IRFACTR AU AT A5 @ foeta?
1)

2)
(TOH (GRS SIRPOAR

3)
(TPCBATD (SAIRS I35, AF. TR

v 4)
(GATH ATORSH ST 31

IIT -

YA SER S0 Afere 513w S SKPIR IR PR \3 JRFATRaIR 24T Gl
B3 (@, ATore e stf Sxvarfaee Mg (e 2|

31) The expression ‘take into account’ means—
1)

count numbers

v ?2)
consider

3)
think seriously

4)
assess

4T : 9MG phrase 'Take into account ' U< ORI T 6T TT | STO1L 3P B6 I
consider.



32) PTG S ITaTa?

1)
GIRIRE]

2)
Gl

v 3)
RG]

4)
GIRIRID]

IIT -

o WP I A0 2002 fPTiat |
o O 7 @7 1919 (oxd A171- Txrkod, ©fF, ©F1, 8718, BeIY, Shlfcto, Sorfe,
TONF, BBO, GTY, Boredd, BHiR|

33) 55 (2053 ETTPTO! U PO FRFRATS IR ZH-

1)
B9 (SCATIRG

2)
\3]T QST G

v 3)
QIEG

4)
WK (ORI T 2

II0T -

205 TR 50-54 TGH TR (PIFTPTOR TGO S OF @IEPR] 7 oG S
G BAHCAR “RB TR (@OAIIP (D3RP B 1) ACHXTd O} PRI F5Caa) &G I I1RATTR
Jeyrad 3o fdfs safba ‘iR’ |

* BRIT ~RIETETdT PRCRA AR Bfud 2837 |



34) PTAT RIS XE BeS?
v 1)

SYCA AT

2)
SND P

3)
ATRPROP ST

4)
(LT

IIT -

TG EIRG QR I [ ATIS g— ,

o (TR ¥R B PAT a1 QIR IRIN IRAR ST TR BIRCE SRS <G4 B I |
Cﬂ'ﬂﬂ'_

. W@m

o onifq

* IR 2O

o JOTA (OIGTS, ATPTOP ST \3 SNT P 2 RIS XFH B |

35) SR STSIROH M @IAIL?

1)
JIorETd

v 2)
A

3)
IS SHTA

4)
(TG 3 (Dead Sea)
ITT

WP T AIFRIR SRR 7RSIt SRES O3 s5po onfar 271  ft Resw sreikod )
SoRY A 30T ftcd aes B Ry Wiogy it @mear 3@ |



AT : FORCADT TP [oAGd [ IRE | 8 T SooY AR IBRCED bTe] |

37) AR SRATEP ([P o] WGPl <9 52

1)
AT 1P

v 2)
CINGRIGTS

3)
AT

4)
BT

II0T -

AT ST BT TRT A3 BT TGN ARFACR FARIP [P o] WGP TS T 1w
A @RGCAG STCHON AT CPNP ATy |

38) ‘Call to mind’ means —

1)
fantasize

2)
attend

v 3)
remember

4)
request

JII0T -



Call to mind 930 Phrase IR WY 3 remember 1 XK 3T, = 14T

39) 512" < R0 >3 @I ?
1)
SR

2)
SR

I &

o STV X QR 2 5[2 OF151 PR QI H AT BT, (T KA QP10 AT BT | 52
SR O RS <1 27 ST |

40)
AP0 AR WP ¢ G, . x 8 A, . x >.¢ &, 4. 21 ¢ &, 4. s, 8b &1, 7. 2% 13 vo
1. 3. SHoIRTe U IR FLT FOIb H]TT 14T T2

v1)
uso o

2)
o0

3)
vwyoo &

4)
Qbo
IIT -

SRR RO = (¢x8x).¢) 99 G.f = vo Ta Gif.
I RO = (€& x8b-x00) T (1.1 = 4v00 T LA,
SRITE 1T AMR= (A300+90) b = 3wgo T |



41) IFFHE BB RETTF SR biRia Iafs?
v 1)

ERGIRGI

2)
XTSRS

3)
frgen

4)
QR

IIT -

o 307 G IFFET SSILRR "RETF BATIHT 25T SIS SN | I3 S
R via @ 29-

o P!

o 3

R QL

o SR
* Q@IZA! 257 OR AT PRIIE B3 [ATS 5|

42) afFr F191 fFCPT, 2052 @A CoReT Tfs 20?

1)
PRY ST CoRoTE

v 2)
CIR AT TR CoRGTTd

3)
RS A oo

4)
TSN GO oA

II0T -

053 FER DD - R TTB 55T AR F191 fFPL IR oK O I8 Troly GoRoaed

oo =



1)
SHEY I

v 2)
YYD A

3)
YWY I

4)
YYD I

IIT -

* 53 A, YWY FH CSFLP-> 1 51T RO AT AOBTHI R0 T2 IaT PR PRI
L IERNRIIEGT

44) 93D fgred 7ib @R AREIT Ve 3 ¢e® | FagRD @1d 47 ?
v 1)
STECRIN

2)
A

3)
AR
4)
FECRIN

II0T -

faeror fod @R Jai B3 STace1d|
g7 GO @R ARET = [dbo® - (¢&° +9¢°)] = »0°
AR, faeai I |

45) (x-y, 3) = (0, x+2y) X (X,y) =9 ?

v 1)
(1,1)



IIT -

o (SAT AN, (X-y, 3) = (0, X+2Y)

e,

* Xy =0---- (i)

* X+2y = 3 ----- (ii)
(i) 72 TS 73

¢ X=Yy ----- (iii)

(ifi) 92 @ x Q9 T (ii) 9 Q I 113,

e y+2y =3
cdqy=1 --—--- (iv)



IIT -

Q18T IR TROMDZ (A6 ST | A7 T @I (¢38) GBI | X FEFH PR IO IR AT
2| - [igas

47)
2058 el RPIPT91 PO PIAR TGO X2

1)
T

2)
qifevd

v 3)
&

4)
Ao

I -

2058 STCER S TG ->0 T3 ATRETe] TIfo 2 2008 REIP191 P67 | ST , 3056 S
QIR 2O RPIPTo1 OIS TGO 2T 0L 3033 HE FTONR 307 RGBT oI A0 XA |

48) RS O 2T ?
1)

v 2)
&, emicana

3)
e 2fp2

4)
siferfens



IIT -

o o2 1SR 51 e IR oid T, S0 | ISy O RS W01 AT I 2 |

O ] P AT 21 PR 'A Brief History of Time' s8R 14 3 Rsral
focpa 2P|

49)
Some writer sink __ oblivion in course of time.

1)
on

2)
from

3)
under

v 4)
into

50)
SR ATfa- IR 1o 5?2

1)
2H20

2)
H20

v 3)
D20

4)
HD20s3

II0T -

o G T AP @O 257 D-20O.



51) QBTb K I T b 1. . 3 &1, . | 93 IR CFawer ST CFapa e
ISOCFA AR 072

v 1)
ISR

2)
S . .

3)
vy . .

4)
S G fA

I &

ROR CFPaVA = (Y2) x PN BT
= (Y2)x8x9 = 36 I/ GI.fA.

«f,

ISCFAR AR O = a &4,

SJOA1L, a2 = 36, TR, a = 6 GI.fA.

. I50CFaid ARTE = 4a = (4x6) = 24 LR

52) The word ‘permissive’ implies —

1)
humble

2)
law-abiding

v 3)
liberal

4)
submissive

II0T -



Permissive LS EGILCIN

* humble KA
* law-abiding MIESKIBISE]
* liberal CIEREl
* submissive AF5TO |
53)

If a person cannot stop taking drugs, he or she is -

1)
attached to them

2)
committed to them

v 3)
addicted to them

4)
devoted to them

IIT -

addicted to them

54)
4%+ 4%+ 4%+ 4% O3 F19 T3 @Tain?

I &



A 445485445 = 4 X 4% = 22 X 22X = Q2x+2

55) The only error in the sentence, “One of the recommendation made by
the committee was accepted by the authorities” is —

v 1)
recommendation

2)
was

3)
accepted

4)
committee
IR &
One of the __ Q9 9K 5K 57 plural noun T Pronoun JK20 A |

* oY, recommendation 93 X{ recommendations.

56) fod SR Qb RGPICER SR TG I 24 I2J | I @Il SR I958 21 IZRA b
1 2 O O @ICAT AP S TS PO?

1)
25 I27

v 2)
30 I=27

3)
28 7=

4)
32 J2d
II0T -

e 3 T 51T ITHA = 24 I5J | WO, 3 TR 6 ITA 24X 3 = 72 IZ1|
o IR\ ITN 21 A 6 91 I, 2 T KA WA = 21 X 2 = 42 I57|
* WWAJ 1 BAF T T = 72-42 = 30 I2J|



57)
'Excise duty' 9 I AMICINT @ain?

1)
SR I

v 2)
WARSTR OF

3)
WS TRIg

4)
foiie g
AT :

* Excise duty' «< I ATICINT A 267 ARSNR &F |

58)
BUToM (P1d 2™ (AT?

AT &

o J1AT NICOR ATHIT e q pIiom |
* Y509 S TR LA XA @ X6 AMRER 3| IS FaRs = 30|
BN TRFS AWV LR AGR WL | 9K SRR DT |



59) L WRIOPR TR A% O (I /0 WL | TRIDA AR 8o bR A OR CFawe] PO ?

1)
vo 5o

v 2)
UK RIBINE]

3)
R DGR

4)
CEERIGIE

AT : QRIOCHCAR ARSI, (07 + %) QL CFaPe] = B x 4
QP10 WGP TR 278 TR TTTRAT /0 TR

TS 4R00 AJ, 0P GIR 2F AL P

(VP +:P) =80

%0 3F = 80

T=8

TOUT, (PP = 0P X 3T

=08 x.8

=R Xb

= DY

60) COIAETH FHrETR T BT 57?

1)
T

2)
&l

v 3)
eAIBRIE]

4)
NGIRIBAIE]

I &

o (T T COIATTH ot Tarod ST |



61) We look forward a response from you.

v 1)
to receiving

2)
to receive

3)
in receiving

4)
for receiving
T -

Look forward to, with a view to, be used to, get used to 2O % @Il verb
WIS O verb AR AV ing I 2|

62) AR SR Q2178 FLCNMS 22~

1)
y¢fo

v 2)
5qfo

I -
AR HLRTE 9d =173 dq 6 570N et 1wz |

* SRICTT 05 FER ob 3 T3 LR (e ST KT 2050 SO T 2115 |
¢ofD 1T AT APTPT AT AV LA (AP AT 3¢ IR 21 I AR |

63) FASsoP I RIS -
v 1)



AT : Son T oo @ Faronsifos 3kg kiR 3|

64) (3V3 x 3V4)5 = T5?

1)
12

2)
48

3)
36

v 4)
144
T

(3V3 x 3vV4)6 = (3V12)6 = 122=144

65) IR AT RSTCsT It [EHD -

1)
»

v 2)
55

3)
NG

D

IIT -



‘FFTOR *1[7 SerF @A Ao [orsT ¢ Td RERRs A #f[i1fero o1 yond 51 o1 I
IR QT P | » TR 2005 ARG TR »8 () HT EOIEP Ao [enst Rsrofod
AT Q (AP I 5D (0 GG IR

o TEAT . FRYTT TR Wt [t Rvkoifod 574 MR @ IfoTR Ia0e. AFaa
Agorfoq |

SRR 77 - IR0 @Rl AP RETRIRS TSd Q1Y IR, GRAo AP [
s 719 A |

66) PRSI \3 XCARR T O ILA?

v 1) TITRT XTOA CTICY \3 BT *Totpa /iy
2) NS *XRoCPI CTIICY \3 SIS TP AYFIE
3) e TP I \3 R4 <Rocpa ey
4) ST XTI ORI \3 TIITAT TP AT

AT 2 TITRT XA CHICY \3 ST <P AT TGP \3 712 o o g
FAPTOR 125 FAICS PRSI \3 FHAITH TS XTI B8 WO | PIRGITERT GRPTEN
fRATeeT SATCRIRET AR WS 1S IR | FRSATAICR T SIS 2 : (TS &3,
oF 014 , S @, o R |

67) Subject - verb agreement refers to —
1)
person only

2)
number, person and gender

v 3)
number and person

4)
number only
0T -

Subject _ Verb Agreement X% subject  Jd number \3 person Wl verb
W] A6 d | @4 Subject 3rd person singular number @ Present Indefinite
Tense A verb dI3Y s /es T& A |



68) "Such claim needs to be tested empirically” suggest that--------

v 1)
The test should be based on experience

2)
The test should be based on idea

3)
The test should be based on assumption

4)
The test should be based on calculation

TN : I T2 (T ' 4RER TSTT WRGTOR S 613 PT ATS | 5« FA2 option
() (O I TG |

69)
X/y 3 SCY PG (15T FAE ST y/x T?

1)
(x2-y2)/xy

2)
(2x2-y?2)/xy

v 3)
(y2-x2)/xy

4)
(x2-2y?)/xy

I &
(y/x) - (xly) = (y2-x2)/xy

70) AT J2od A IFRD @I TREG?

1)
frs3e

2)
Tod



3)

v 4)

I &

IGHIE AR J268 KA 3B AT, TIF | 19/50/205b TR HCTH 2STog AT
ARG RCsTo1 BT ARSI BCATdd I |

71)
CIGKIGIGITRS KV,

1)
forfofferer

v 2)
fornferT

3)
MiAferer

4)
forforeTimt

o forotifereer, fafdcay, fact, graod, I, fagq, faer, [adle, 3o, Py, fdeem, taxrey,
TP, -, ot |



Bikall

4)
IS IBIBRIS]

AT &

o STCTOIARMGR -

o I™[TO T (CTRICP FRBTH 310 (A ] IO U7 B9 FG2F 1 7B1K 20T (el 2 |

73)
m SRYTP SR 5TO X QIR N SHARYTP ST MY Yy A 5 HYIK 5O P9o?

1)
(x+y)/mn

2)
(Xx+y)/(m+n)

v 3)
(mx+ny)/(m+n)

4)
(mx+ny)/mn

I &
(33T AR,

* M SRYP FAR= mx, 1%

* N SYP IR = ny.

o (810 5T = (M + n)

* O], AP ST 51O = (MX+ny)/(m+n)

74) Each of the sons followed __ father’s trade.
1)
their

2)
her



v 3)
his

4)
whose

IIT -

Grammar ___ IR fqusiq@fl Each, Every 390 <5192 his (P 5129 I |
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76) In many ways, riding a bicycle is similar to -
v1)

driving a car

2)
when one drives a car

3)
when we drive a car

4)
the driving of a car
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81) If a part of a speech or writing breaks the theme, it is called -
1)
pomposity

2)
exaggeration

v 3)
digression

4)
anti-climax

AT = "I PICAT I M @ PR (AP RIS 2T 2108 ©4d O digression (61 9551
@ Rpyio ) 7o 2|
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° 36.23x8 = 32

o => 23x-8 = 9/36
o => 238 =1/4
o => 23x-8 = D2
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95) Pick the word that is synonymous with ‘authoritarian’.

v 1)
autocratic

2)
senior

3)
elderly

4)
potential
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